When tossing a coin twice, the outcome of the
second toss is not aifected by the outcome of the
first toss. In other words, the 2 events are

When a coin is tossed twice in succession, there
are 4 possible outcomes: .

Therefore, the probability of tossing 2 heads in

a rowis:
P(H and H) =£}_

The y Va appears to be the
product of the two individual probabilities.

pcanam = PCH) X PCH)
wldpely = ‘5‘ X -5-

= 1
\-(

This result is true in general?!!
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If A and B are independent events,
‘“ THEN
P (A and B) = P(A) x P(B)
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A coin is tossed and a die is rolled.
What is the probability of tossing a
tail and rolling an even number?

P(T »1¢ even) = PC) X RCW\)
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A coin is tossed and a die is rolled

twice. What is the probability of

tossing a tail and rolling even
numbers? Ploe=%

P(T even even)
= P(Ta ) X Pleven) X Pleven)

=L x 3 x T
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